3/$1B=,0%$B B
3UDFRZQLN 5RINaDG 3DZ0N -DPL0

o
™
pd 3URIHNI 7\J 3URIHNI 7\J
% = \W]\PD4RGli PDIHULDayZ = \W]\PD4RGli PDIHULDayZ
o ., %VIDF , JRVI & 3 ., %VIDF , JRVI & 3
ﬁ 3DZIIN .DPL) 3DZIIN .DPL)
.6 .6

oD
O

\NiDG 7\J || BURIHNI 7\J BURIHNIE 7\J
% - RQVIUXNFIH EXGRZIDQH - RQVIUXNFIH EXGRZIDQH
= -RQVIUXNFIH || ,, $5&+ , JRVI 3 . $5&+ , JRVI 3
Il EXGRZIDQH 3DZIIN .DPL 3DZIIN .DPL
N ., $5&+ ,JR || -6 .6
[— Vi =
LL 3DZIIN .DPL)

.6
=
™

BURIHNIE 7\J \NiDG 7\J || 3URIHNI 7\J 3URIHNI 7\J BURIHNIE 7\J

O | 7HRUD VSUCT\VIRGFL L 7HRULD VSUCT\VIRGFL L 7HRULD VSUCT\VIRGFL L
= | SIDVINF]JQRGFL 32 32 SIDVINF]JQRGFL SODVINF]QRGFL
5 , % QVIDF ,, JRVI 3 %XGRZQLFIZR || %XGRZQLFIZR |, % QVIDF ,, JRVI 3 , % QVIDF ,, JRVI 3
o | 3DZUN .DPL GUHZQLDQH GUHZQLDQH 3DZIIN .DPL) 3DZIIN .DPL
> | .6 .9 % QVIDF , ,9 % QVIDF , .6 .6

JRVI = JRVI =

3DZIIN -DPL0 || 3DZIN -DPL0

.6 .6
—

2SXEINRZDQ\

3RIHFKQIND 2SRIVND  &(/&$7 7LPHIDEILQJ




